
New wheels measure 8” bead seat to bead 
seat, 9” lip-to-lip. Depth to outer lip from seat is 
5.875”. If I understand correctly:

I subtract half the bead-bead distance to establish centerline at 4.0”. Subtracting that from depth 
measure (minus 0.5 lip to bead or 5.375) I get 1.375” / 35mm. Entering into offset calculator:

Is the spacer 15-20mm or 5 mm? Seems like the 5 mm would put the outer edge in 
OEM position, the 15 mm would prevent rubbing while pushing the wheel out by 5 
mm. Which to buy? Sorry for the seeming ignorance, it is actual.


